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A$ = Ilove my country

B = "T'll study hard to pass”
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(3)

rem "AB"=2
A=-2

Print —A N 2 ,"AB”
End

(2)

CLS

Print X + 4
End

Print C , "4*X”

(1)

remb5 =5
Print rem5

End

Print reem

(6)

REM$ = “end”
rem$ = "rem”

Print remS , REM$

(5)
X$ = //N//

Print "X $”
Print N

(4)

AB =9 —n
Print BA, n
Letn=4
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M4=4
M$=ll4”
Print "M4”,
Print M$+m$

rem Print 5

A=5

Print A+5 |
Print A * 22
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C=6

R$="C"

C=4

Print C$ ; R, c
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Print Welcome,

rem "Print Welcome”;
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End
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Print A$;
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Print "A+5”
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Print N$+n$, M+m
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Y$=Y$ + X$
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A=10

B =20

Print AB + A MOD B
REM 5 = AB

17)
Print ,

Print "3457";
Print +123 ;

(16)

TS = "JORD”
Print t$ + "DAN”
t$ = “Amman”

Print TS, "2017"
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